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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each.

Add 52 + 33 and 242 — 53.
(A) 742 - 23 (B) 62 — 33
©) 62 — 83 (D) 642 + 83

The value of 2 ;;7 is:

9
(A) 1 (B) 0 © 3

Which of the following is a polynomial in one variable.

(A) 3—x2+x (B) /3x + 4 (Q) x3+y3+7

1
Find P[g] for p(t)=t>—t+2

22
(A 5

The value of p for which x+p is a factor of 2+ px+3—p is :

(A) 1 B) -1 © 3 (D)

A pair of angles is called linear pair if the sum of two adjacent angles is :

(A) 90° (B) 180° (C) 270° (D)
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Each angle of an equilateral triangle is :

(A) 50° (B) 90° (C) 80° (D) 60°

In fig. 1 if x°, y° and z° are exterior angles of AABC, then x°+y°+2°is :

(C) 270° (D) 90°

In AAOC and AXYZ, ZA = ZX, AO=XZ, AC=XY then by which congruence rule
AAOC =AXZY

(A) SAS (B) ASA (C) SSS (D) RHS

Find the measure of the angle which is complement of itself.

(A) 30° (B) 90° (C) 45°

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

3
7 -

Rationalise the denominator of

64 )_%

Simplify (E
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1 1
If x + — =3find x¥* + —
X X

Check whether the polynomial p(s) =3s3+s2—20s+12 is a multiple of 3s—2.

Write the co-ordinates of A, B, C and D from the fig. 2.

D

y
Fig. 2

In figure 3, AX=BY and AX||BY prove that AAPX=ABPY.

X B

A Y
Fig.3

OR
PS is an altitude of an isosceles triangle PQR in which PQ=PR. Show that PS bisects £P.

In a ADEF if ZD=30° £ZE=60° then which side of the triangle is longest and which side is
shortest ?

An exterior angle of a triangle is 120° and one of the interior opposite angles is 40°. Find the
other two angles of a triangle.
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SECTION - C

Question numbers 19 to 28 carry 3 marks each.

1

If x=3+22 find Jx +
Jx

OR
Simplify v2(V6 ~ VB) + V(127 ~ V).

Simplify : 1+ 2 + 1-\2
+3 5-43

OR
If a=2, b=3 then find the values of the following :

() (aP+b2)~1 (i) (a®+bb)~1

30 29 28
Prove that % -7

Simplify (x+y+2z)2—(x+y—2)?
OR
Factorise 9x2+ 12+ 22— 6xy +2yz —6zx. Hence find its value if x=1, y=2 and z= —1.

In fig.4 ABCD is a rectangle with length 6 cm and breadth 3 cm. 6 is the mid point of AB.
Find the co-ordinates of A, B, C and D.
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In fig. 5, BD and CE are two altitudes of AABC such that BD=CE. Prove that AABC is
isosceles.

A

In fig. 6, PQ||RS find x.

P

In fig. 7, if Za > Zb then prove that PQ > PR.

P

Q R
a b

Fig. 7

The exterior angles obtained on producing the base of a triangle both ways are 100° and
120°. Find all the angles.

Find the area of a triangle, two sides of which are 60 cm and 100 cm and the perimeter is
300 cm.
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SECTION - D

Question numbers 29 to 34 carry 4 marks each.

Without actual division, prove that 2x*—8x3+3x?+12x — 9 is exactly divisible by x> —4x +3.

If a+b+c=12, a2+ b%+c2=90, find the value of a®+b3+c3—3abc.
OR
Find the value of (106)3— (94)3.

If f(x) =x*—2x3+3x2—ax+b is divided by (x—1) and (x+1), it leaves the remainders 5 and
19 respectively. Find ‘a’ and ‘b’.

AB and CD are respectively the smallest and longest sides of a quadrilateral ABCD (fig.8).
Show that ZA > ZC.

D

C
Fig. 8

AABC is an isosceles triangle in which AB= AC, side BA is produced to D such that AD = AB.
Show that ZBCD is a right angle in fig. 9.

D
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Prove that the angles opposite to equal sides of an isosceles triangle are equal. Is the converse
true ?

OR

In AABC, if perpendiculars drawn from B and C on opposite sides are equal, prove that
AABC is an isosceles triangle.

A
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dus - A
U9 WEAT 1 | 10 9k TdF 1 3k T &

5v2 + 343 &R 242 — 5.3 I ANTHA BT :
(A) 7J2 =243 (B) 62 — 33
©) 62 - 83 D) 62 + 83

2+7 & | B

o

(A) 1 (B) 0

=1 # #F T =% &1 g

(A) 3—x2+x (B) /3x + 4

IS p(t) =t2—t+2 p(%} T G BT

W&x+pa@3x2+px+3—paﬂ§m%ﬂapaﬂﬂﬂ@m:
(A) 1 (B) -1 (C 3

T 3T I T [ T oA © A1E SHT ANTHSA AT
(A) 90° (B) 180° (C) 270°

HAETE FAYST 1 T 107 BT ¢
(A) 50° (B) 90°
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3T 1 H, A x°, y° a1 2° FAYST ABC o =TRI IV & qal x° +1° + 2° T HH BT

(A) 180° (B) 360° (C) 270° (D) 90°

AAOC TIT AXYZ H, ZA = 2X, AO=XZ, AC=XY T8 AAOC =AXZY I8 Faimayqd1 o 7=
om @ _@TIT :
(A) SAS (B) ASA (C) SSS (D) RHS

€ IV, S T HT ek B, T
(A) 30° (B) 90° (C) 45°

Qug ‘g’
U9 AT 11 § 18 U UIT 2 HhI hT T :

. 3
mm%a?ﬂwﬁﬂﬁwmﬁfﬁaﬁl

12. [64]_%ﬁwﬁmﬁ|

1 2

1
13. A€ x + — =379 x° + — o UM 1 HifsA |
X

X
14. SEUE p(s) =353 + 52— 20s + 12 I TEIE 35 — 2 T UM & I SI1= Hifed |
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A Y
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1+V2 1= V2 o g i
5 +V3 5 -3

YA

fg a=2, b=3 99 =1 &1 91 A HifeA |
() (@P+b2)~1 (ii) (a®+bb)~1

‘F{:]q—g ‘ 230+229+228 :l

(x+y+2)2— (x+y—2z)2H WA B |
SPEN
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A
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g TgUE f(x) = 1% — 203 +3x2 —ax +b T TG (x—1) 3R (x +1) F 9FT A W IU%S HHI’: 5
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D

B
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